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ALGORITMA KNN DENGAN BAHASA PEMROGRAMAN PHP
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ol, denyut_nadi_maksimal, depr st, en_st, kondisi,

age,sex,cp_trestbps,chol,fbs,restecg,thaIach,exang,oldpeak,slope,ca,thal,condition
69,1,0,160,234,1,2,131,0,0.1,1,1,0,0
69,0,0,140,239,0,0,151,0,1.8,0,2,0,0
66,0,0,150,226,0,0,114,0,2.6,2,0,0,0
65,1,0,138,282,1,2,174,0,1.4,1,1,0,1
64,1,0,110,211,0,2,144,1,1.8,1,0,0,0
64,1,0,170,227,0,2,155,0,0.6,1,0,2,0
63,1,0,145,233,1,2,150,0,2.3,2,0,1,0
61,1,0,134,234,0,0,145,0,2.6,1,2,0,1
60,0,0,150,240,0,0,171,0,0.9,0,0,0,0
59,1,0,178,270,0,2,145,0,4.2,2,0,2,0
59,1,0,170,288,0,2,159,0,0.2,1,0,2,1
59,1,0,160,273,0,2,125,0,0,0,0,0,1
59,1,0,134,204,0,0,162,0,0.8,0,2,0,1
58,0,0,150,283,1,2,162,0,1,0,0,0,0
56,1,0,120,193,0,2,162,0,1.9,1,0,2,0
52,1,0,118,186,0,2,190,0,0,1,0,1,0
8 52,1,0,152,298,1,0,178,0,1.2,1,0,2,0
51,1,0,125,213,0,2,125,1,1.4,0,1,0,0
el 45,1,0,110,264,0,0,132,0,1.2,1,0,2,1
42,1,0,148,244,0,2,178,0,0.8,0,2,0,0
w8 40,1,0,140,199,0,0,178,1,1.4,0,0,2,0
38,1,0,120,231,0,0,182,1,3.8,1,0,2,1
34,1,0,118,182,0,2,174,0,0,0,0,0,0
74,0,1,120,269,0,2,121,1,0.2,0,1,0,0
71,0,1,160,302,0,0,162,0,0.4,0,2,0,0
il 70,1,1,156,245,0,2,143,0,0,0,0,0,0
¥ 66,1,1,160,246,0,0,120,1,0,1,3,1,1
63,0,1,140,195,0,0,179,0,0,0,2,0,0
£2111202810N021030141121




HEATMAP DATA
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'
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-7.5e-05

-0.0078

thalach

0.096

0.067

0.059

-0.00089

i
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i
thal

0.08

condition

1.0

0.8

- 0.6
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- 0.0

-0.4




57

SEGMENTASI DATA
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PELABELAN DATA
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